Geometry A Name: Keu
Section 3.1 — 3.3 Quiz Review Date: J Period:

You should be able to...
v Identify parallel, perpendicular and skew lines. Identify parallel and perpendicular planes.
(Section 3.1)
v"Identify corresponding angles, alternate interior angles, consecutive interior angles, and
alternate exterior angles. (Section 3.1)
v Find measure of angles formed by parallel lines intersected by a transversal (Corresponding
Angles Postulate, Alternate Interior Angles Theorem, Alternate Exterior Angles Theorem,
Consecutive Interior Angles Theorem). (Section 3.2)
v" Prove lines are parallel (Corresponding Angles Converse, Alternate Interior Angles Converse,
Alternate Exterior Angles Converse, Consecutive Interior Angles Converse) (Section 3.3)

Practice Problems

1. Two lines that are not coplanar and do not intersect are called

a. Parallel b. Perpendicular @Skew d. None of the above

Use the diagram of the cube to the right for questions #2 — 4 below. "
2. AD and HG are
I3 H
a. Parallellines b. Perpendicular Lines @Skew Lines d. None
3. BC and 4F are
a. Parallel lines @Perpendicular Lines c. Skew Lines d. None

4. FB and ‘G_C) are

@ Parallel lines  b. Perpendicular Lines c. Skew Lines d. None



5. Inthe figure below, «1and £2 are

@ Alternate exterior angles c. Consecutive interior angles
b. Alternate interior angles d. Corresponding angles

Use the following figure to answer questions 18 —19.

6. In the figure above, £6 and «3 are

a. Alternate exterior angles ¢. Corresponding angles
Consecutive interior angles d. Alternate interior angles

7. Inthe figure above, «6 and £2 are

a. Alternate interior angles c. Alternate exterior angles
b. Consecutive interior angles @ Corresponding angles
8. Using the diagram below, name FOUR pairs of perpendicular lines in the f i
figure. g | ca
& <7 & &> | 1
BC and AB FE ond EA =~
& & & & ,.U__. 'i“' i
FG and GH AD and DW .2
A )
9. Find m« 1 in the figure below given that (PTQ—) [ RS. .
) 105° Frs
a >
b. 75° og°

N

o b
& s /1 105 *



10. In the figure below, [ || n and r is a transversal. Which of the following is not necessarily true?

b. 22=2,6

25=,3

C.
24=_27

11. In the figure shown, HC I GD and m ABC = 100°. Which of the following statements is false?

/ m« CBE = 80°
8. m.DEF=80°
@ «DEB and «CBE are corresponding angles

/d./ <CBE and «GEB are alternate interior angles

12. Use the figure to find the measure of £ 3.

124°

b. 56°

13. Given m || n, the diagram below and the provided information, please find the value of x. Justify
each step using the appropriate theorem/postulate. (NOTE: Diagram may not be to scale)

t
allemnatt inienoy angles theorem
2. mlAd=(Tx-22)° and ML = (4x 4300 OO 1 /
1%-dq thuaq/’ 3X:56] m<€ /4 >
3X-3390 [T s /5
n€ LE >

b. m£4="72° and m£8 = (x+30)° 778
132 %+30 > wtresponding ongles PostIiGtt

e |

c. Ift Lm and mZ2 :(%x+12)°, what is the value of x?

(S N

=X 11d=30 5 gefiniion of perpendicuiar

W ®

3ye1

[+]

A:52

H




14. Given the diagram below, please find the value of x. Justify each step using the appropriate

theorem/postulate. Qe
\aneat PaY ?JOS ;
15:%-4  aldernate tnterior angles rheorem 0-\00
X:Tl ‘/ 4 /
1050 18—7
i {x¥—2)°
3
15. Given the diagram below, please solve for x and y. Please justify your reasoning.
» L\‘?"é‘" pawv postiate ARNAIE RXALNOY aingLes
Y -torbg- 4y-b= 2%-24 heorem
Hy+5a = 180 4(32) -1 = 2x-24
Hy=128 128-16 = 2x-24
W W2=2¥-2Y

13022%

=

16. Please find the value of x that will make m || n. Please justify your reasoning.

AxX+36+4 X=180
WX t367180
bx= 144

lle’* } m//n by wnseative interol
angies converse

17. Using the figure below, which theorem guarantees / and m are parallel?

a. Alternate Interior Angles Converse
b
¢. Corresponding Angles Converse

. Consecutive Interior Angles Converse
@ Alternate Exterior Angles Converse

= . a




18. Find the value of x that will allow you to prove that CD I EF ifmz1=(3x+30)°and m«2 = 81°.

State which theorem or postulate you used for each step.

3%+30:99 <« aiternate wnterior angles (onver{e ) \ .
(') 3
3X=09 &« suphachon property (3x+30)
g aa® & 1808\
|x 23 ] & aason pmpemj : g ! ——
z 2 o F
Va

Use the following given angle measures to decide whether lines a and b are parallel. Explain.

19. mz23=96°, m«5=84°

The lines ave not paraiiel becdUso
%"
) 39 ¢s.

20. m£5=79°, mz4=79°
The line§ are not pardlicl becaust

T
i ¢4+¢h F Q0.

21. mz22=81°, mz£6=81°

gie allbsince corresponding angles ave
congruent (¢a£¢0) by +ne corresponding
anglel wnverte

]

Use the figure below to complete #22 —23.

22. Connor lives at the angle that forms an alternate
interior angle with Georgia’s residence. Add Connor to
the map.

23. Quincy lives at the angle that forms a consecutive
interior angle with Connor’s residence. Add Quincy to
the map.




True or False:

24,

25.

26.

27.

If two parallel lines are intersected by a transversal, then alternate exterior angles have

measures of 90 degrees.  gq\5¢- a\t.nkeror angles are wngruent

If two parallel lines are intersected by a transversal, then consecutive interior angles are
supplementary. True

If two lines are intersected by a transversal and alternate interior angles are equal in measure,
then the lines are parallel. True

If two lines are intersected by a transversal and corresponding angles are supplementary, then
the lines are parallel. False- mmgpondmg anges are Lon(:)\’ucn\'

Answer Key :
1. ¢V
2. ¢/
3. BY
4. AL
5. AvY
6. B/
7. DV
8. Sample answer:lﬁand‘ﬁ,ﬁandlﬁ,ﬁand(gﬁ,ﬁandﬁ \/
9. A/
10. DV
11.¢ /
12. A /

ey
w

14.

15.

16.

17

. a.x =17, Alternate Interior Angles Theorem v

b. x = 42, Corresponding Angles Postulate vV

c. x = 52, Definition of perpendicular /

x=77

Sample answer: The angle to the right of (x-2)° is 105° by the Corresponding Angles Postulate
105+ x—2 =180 Linear Pair Postulate

X=68,y=32 v

Sample answer: 4y —16+4 68 =180 Linear Pair Postulate
4y —16 =2x—24 Alternate Exterior Angles Theorem

(Solve for y in the first equation, substitute in to second equation and solve for x)
x = 24, Consecutive Interior Angles Converse v/

DV



18.

19.

20.

21.
22,

24.
25.
26.
27.

The angle next to 21 is also 81° because of corresponding angles.

21 + 81 = 180 because they make a linear pair (are supplementary)
3x + 30 + 81 = 180 by substitution

x=23 vV

Line a and line b are not parallel. v/

In order to be parallel, 23 = 45 by the alternate interior angles converse
Line a and line b are not parallel. v

In order to be parallel, m«4 + m«5 = 180 by the consecutive interior angles converse

Line a and line b are parallel because «2 = 6 by the corresponding angles converse v/

&23./
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L -
Connor @ :\p“‘“'l’
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%
Quiney . ¥
“‘“"-—}L! « Grorgia

John® S e
/ Low 5‘?{9&?’“

v

False — Alternate exterior angles have to have the same measure v/
True — By the consecutive interior angles converse v/

True — By the alternate interior angles converse v

False — Corresponding angles must have the same measure /



